Resultant Speed
Boats and stream

Concept Lecture - 8




A man can swim 3km/hr in still water. If the
¥ =[2hv velocity of the stream is 2 km/hr, the time

2
,Q taken by him to swim to a place

Iohv +

Lo~
— 10 km upstream and back is:
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A boat travels 24 km upstream in 6 hours
and 20 km downstream in 4 hours. Then the
speed of in still water and the speed of
water current are respectively
TH A9 6 U H 24 A sg@ &
fauda et § 3t 4 5 & 20 fRald
9819 & FIY AT g1 AT 9=t FH Ag H
Iy 3R gl F Tg fr afT FAT: §
a)4 km/h and 3km/h

4.5 km/h and 0.5 km/h
c) 4 km/h and 2 km/h
d) 5 km/h and 2 km/h




A boat rows 1 kmin 5 minutes, along the
stream and 6 km in 1 hour against the
stream. The speed of the stream is (in km/h)

UH A9 5 [Ade # 1 fhAl, URT & 91

31 8 # 6 frell, urT & Regy s

%lamaﬁmﬁr(ﬁwmsiaﬁ)maﬁ;
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A person can row a distance of 1 km
upstream in 10 min and downstream in 4
min. What is the speed of the stream?

UF SfFd 989 F [90d fgam #
1km#$ gff 10 BAae & ryar sg@ A
fGemr & 1km Y gt 4 Bee & a¥
HIAT ¢ 9819 i AT AT W

a)4 km/h b) 9 km/h
¢) 5.6 km/h /4. 5 km/h
U=§4

D= 15




A small airplane can travel at 320 km/h in still air.
The wind is blowing at a constant speed of 40
km/h. The total time for a journey against the
wind is 135 minutes. What will be the time in
minutes for the return journey with the wind?
(Ignore take-off and landing time for the airplane):

TF BT gals STgl U gar & 320km/h $r
afd @ 33 Whar 8| gar B AT 40km/h T
TgT & AT F ﬁw T S Rt 9T A 39
135 fAeTe T GHT o9rar § aY gar @ faem
Ity 3 A 39 fhdaT AT PE?

a)94.5 105 c)108.125 d) 120
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A man can row at a speed of 4.5 km/
hin still water. If he takes 2 times as
long to row a distance upstream as to
row the same distance downstream,
then the speed of the stream in km/h is:

TF HSHT aid I & 4.5 fRAVEEr

AT a1 § oas & ag a/r &
kel Sar @, o uRr @ afy
Rreifeer #F zm &7
a)1l 1.5
c) 2 d)2.5
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A boat goes 6 km/h in still water, but takes
thrice as much time in going the same
distance against the current. The speed of the
current (in km/h) is:

T A1 FlY st gl & 6 fHAY / wHer
T 8, dfFT Fe F @aTE 3a=
a9 A A 39 3941 & GHIT 9T gl
gaaT A afa (et / ger &) &
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A boat goes 12 km downstream and comes
back to the starting point in 3 hours. If the
speed of the current is 3 km/h, then the
speed in km/h of the boat in still water is

TF AT 12 A ST & a1 s § 3
3 u¢ # el g W oamww e )
iy sgr@ @ Afy 30 et / wer ¥, A
R gy & AT i afa Far e
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A man can row 6 km/hin still water. If the
speed of the current is 2 km/h, it takes 3 hours
more in upstream than in the downstream for
the same distance. The distance is:

TH GHAY o et & 6 fpelY / e ¥ A9
Torar 1 Ife gl fr afq 2 R / Eer
g, 3R sgr@ & favqy AW gl ¥ A
q aaaﬂ:maraﬁraw:ﬁrssi%
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A man can row at 5 km/h in still water. If the

J velocity of the current is 1 km/h. and it takes him
-1 hour to row to a place and come back, how far is
Ax6xG ] =2:4km ( hour)

the place?

T&h HTCH i 9=t & 5 fhaY / "er ¥ &9
Tl GFaT &1 I gl &1 Jor 1 frefiraer B
I 3W wF T W oS aIfw e A 1
TTT W9l §, 9§ 916 fhaell gy 872
a)2.5km b)3 km xfs.ekm 2.4 km
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A man goes downstream with a boat to some
destination and returns upstream to the
original place in 5 hours. If the speed of the
boat in still water and the stream are 10
km/h and 4 km/h respectively, the distance
of the destination from the starting place is

| | 12



— A motor-boat can travel at 10 km/hour in

10+ still water. It travelled 91 km downstream in
- IO(:;, o a river and then returned to the same place,

taking altogether 20 hours. Find the rate of
flow of river.

F$ AT dlc @3 g H 10 FaAvE.

9
;’(oo -) wsqléjaﬁrmﬁ#wmﬁwzoﬁﬁﬁ

2o T 1 4R Fr faw F 91 fra STt
Rk TR J9eh SPE W 3T S
=2 I8 & Fg1d A aAfq AT FA
3km/hour b) 4 km/hour
c) 2km/hour d) 5km/hour
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—> A motor boat whose speed is 15km/h in
|5+% still water goes 30 km downstream and

-— comes back in four and a half hours. The
15-= speed of the stream is:

TF A a9 fGwdr afd 15km/h &

25
9¢ 9819 & WY 30km ST § 9 9819
X(zz%—v{")x ’2_53%/2( ¥ RQ¥ey 30km aRT 3 @ 59

ZRIeT 3@ 91 9R 9 FT GHT 9T B

20 [o—=X Wit & TETE A ARy w2
a)4.5km/h  b)6km/h
=S ¢)7 km/h /5 km/h




A man can row 30 km downstream and return in
|0k»lh 6 a total of 8 hours. If the speed of the boat in still
! water is four times the speed of the current, then
D U the speed of the current is )
S 5:% Wﬂﬁﬁsomﬁwﬁmﬁﬁm%
° I Fa 8w F gy @l amar ¥ IR
- 5y o el 3 g Y Af awT A Ay F AR
T 2k O amr g, ar aw @ oafe
a)1km/h MZ km/h c)4km/h d)3 km/h
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The speed of a boat downstream is
150% more than its speed upstream. If
the time taken by the boat for going 80 km
downstream and 50 km upstream is 8.2
hours, then what is the speed (in km/h) of
the boat downstream?

&7 Y feem o, fRdY a@ Y Trer Y
o RAoda fer i sgdhr =T @
150%3@? 3 Ify emr $ir 2w F 80

m 3R gRT T /9T 2w & 50 km

ﬁq&mmﬁ#wmszﬁa
T oa urT Y Remr F a9 Y =
(fraft. &) 7ira MY

a) 16 b) 30 c) 24 / 25
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A boat covers 12 km upstream and 18 km
downstream in 3 hours, while it covers 36 km
5 (’0'2 U —|- ISD - 3}')) upstream and 24 km downstream in 6.5
X \* U.Sht hours. What is the speed of the current?
%.U +24D _—-6 h 20m T& A1 4RT & 91T IZ.ﬁTJ:ﬁ.SﬁTﬂRT37
= - @ 18 fFlY I« & 3 = w9maY &,
DTS PPTIO I LA AR L
0] =2.9 hr 24 6.5
ZEX2 1 uRT Y Ay T 2
a)1.5km/h b)1 km/h

U{ %;Q/xl=D A2 km/h d) 2.5 km/h




A boat goes 24km upstream and

4hr 2h7 28 km downstream in 6 hours. It goes

Qq U 1—28 D= 6 h IifO km ugsgt:)eam and Zikm d(:jwr;stl:eam in 6

ours an minutes. The speed of the stream

%U-;Q/D-‘-%W a1 6 si%#24kmpam§7ﬁuﬁr
Use\Tlo 7 2h [0m &G # T 28 km gr@ A e & Fere Y
ghmmaﬁaﬁ6 U< 30 Ade A 30km @@ F

A%eer T 21 km 9g@ Y f&am & I FHdl

€U =2 Wy % aeht B TEE B AR AT X2
. D a) 10 km/h b) 5 km/h
4 km/h d) 6km/h
3:%/“5: U=6 ;\z
D=14 2
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A motor boat, travelling at the same speed,
can cover 25 km upstream and 39 km
downstream in 8 hours. At the same speed, it
can travel 35 km upstream and 52 km
downstream in 11 hours. The speed of the
stream is

TH Al dic R afa & 8 g # 25
km ¥g@ $r faem & 3 39 km sEg@ &
Al au &3 a&dr g =@ afa ¥ 3§

C [ 1az’r#35 km 819 & 3olc feam
# 9 52 km dg1@ @ fEem & T "t P
tlFﬁﬂ?E%ﬁ vﬂ%ra-'zn%?
a) 2 km/hr b) 3 km/hr

/ﬁl km/hr d) 5 km/hr
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A boat con go 5 km upstream and 7% km

downstream in 45 minutes. If can also go 5 km

5 U ‘1’7,5D = MS-W) downstream and 2.5 km upstream in 25 minutes.
How much time will it take to go 6 km upstream?

242.5U +5 D =25w) #§ w45 P 3w Ay Protir Towm
ISm o™ 5 km 3 4RT A Raw F 7 km T e ¥

4 7§ 25 fAee & arr it Rem #F 5 Fa 3k
25D=5m o ¥ RAada e F 2.5 km ot o7 wwa ¥

D30)sbom  Temmm 7 ° " T 7
3‘(,\5X6 a) 24 b) 30 /36 d) 32

Aty
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A motorboat can go to 8.4km downstream
and 4.8km upstream in 1 hour. It can go
17.5km downstream and 9km upstream in
2 hours. How much time (in hours) will it
take to go 31. 2km in still water?

Th AlRlEe 1 ¢ H 4RT v feam &
8.4km IR 4T & fAUda feam H
4.8km ST Whdl §| I§ 2 €& H 4RI H
feer & 17.5km 3T 9T F RAoda e
H 9km ST Hhdl | T ST & 31.2km
o gt a7 F A 3@ fFaen wag (ue
) «aEm?

#2.4 94b)1.2 ¢)3.9 d)1.3

| ICAR, 28 Feb 2022, S1 11
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A boat covers a round trip journey between
two points A and B in a river in If its
speed in still water becomes 2 times, it would

take' % T hours lfor the same journey. Find

the ratio of its speed in still water to the

speed of the river.
g ama, R ah 7 3t ARBF
T T-RY AT aeh g ;T 6 A
I FTC g IT R S F sudr TG
2 TR @ o ¥, A g9 e g @@
wﬁﬁmrﬁ%aﬁmﬁwmﬁsﬂ?ﬁr
°Tel 1, Al T ATl & HITT ATT HY
11:1 b) 161 : 4-0

c1:11 d2:1

| SSC CGL 2020 Tier 1 | 22



— —
2hy . 2ht
ghr Q
lo hv
DS _u
S |

P, Q and R are the three towns on a river which
flows uniformly. Q is equidistant from P and R. |
row from P to Q and back in 10 hours and | can
row from P to R in 4 hours. Compare the speed of
my boat in still water with that of the river”

PQR e BT & ST &Y H 7Er W U T
QP IR T WA Y o fua & s #p
TQdr A HT IS H 10 G FI
AT JaT E T AST P A R AR I H 4
[ @ AT AT § at oid g & AN A9
afT T il $r AT FT AT TABE

)4 : 3 5: 3 c)6:5 d7:3
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X, Y are two points in river. Points P and Q
divide the straight line XY into three equal parts.
The river flows along XY and the time taken by a
boat to row from X to Q and from Y and Q are in
the ratio 4 : 5. The ratio of the speed of the
boat downstream to that of the river current is
equal to:

X 3Ry el 7 &Y fag @) g p a3l a
drefy @m xy F T e a7 fFanfoa
G ] A, XY F ARG T8t § 3R
fFft @@ x ¥ aas iRy d Q aF
Y AT A 9 qTF AT ST 9T 4: 5
2 Jgr@ Y Ram & a1g A TIer 3R TG A
U7 AT AT FT AT AT HY

HA10:3 b)3: 10

c)3:4 d)7:3
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A boat sails downstream from a point P to
point Q, which is 24 km away from P, and
then returns to P. If the actual speed of the
boat (in still water) is 6 km/h, the entire trip
from P to Q takes 3 hours less than that
from Q to P.ENhat should be the actual
speed (in km/h) of the boat to sail from P to
Qin 2 hours?
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CI-\ motorboat whose speed is 20 km/h in still water

takes 30 minutes more to go 24 km upstream than
to cover the same distance downstream_j If the
speed the boat in still water is increased by
2 km/h, then how much time will it take to go
39 km downstream and 30 km upstream?

TH AleEie ST aid st & g1’ 20km/h,
aqRT H Audia em & 24km I 7, 4RT A
e & 3aeht & ¥ 9 F e v WY 9,
30 fAee ¥ &1 a7 o 8| IR g s«
# T Y 9 F 2km/h B T ) A T,
ar 3@ gwrr @Y e H 39km AR URT HA
fAuda e 30km S H Fawm AT
ANIT?

a)2h40m H3h10m

¢)3h40m d)2 h50m

| SSCCGL T1, 11 Apr 2022 Slj6
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A man can row a boat 78 km
downstream and 42 km upstream
in 6 hours. The speed of the stream
is 6 km/h. In how many hours can
he row the boat a distance of 100
km in still water?
Fg gfdd, urT i faeam F 78
km 3T arT Y RAoda feam &
42 km # gff AT q@RT 6 wS H
dT T ThdT g URT 6 °TeT 6
km/h 8| @@ g@RT fFaa @aAT
# 9§ od I A 100 km H¥ g
HT HhdT &7
5 b) 4
c)6 d)8

|SSC MTS, 14 Oct 2021, Sﬂ 27
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A swimmer swims from a point A
against a current for 5 minutes and
swims backward in favor of the
current for next 5 minutes and
comes to point B. if AB is 100
meters, the speed of current (in

T T 5 A & T @t
arr 1 R F ar § 3k Rig
B U 3T & IfE AB 100 Hiex §,
ar arT fr afa R / wer A
T 87

a) 0.4 b).0.2

1 %).6
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Two boats A and B start towards each other
from two places, 108 km apart. Speeds of the
boats A and B in still water are 12 km/h and
15 km/h respectively. If A proceeds down
and B up the stream, they will meet after.

ar 719 A 3 B a Tl ¥ o gl §, S
108 sl &Y ey 9x ¥ g T & A 3
B sildr3it #r FAA: 12 FAEer iR
15 Y / "ger 31 I A T F Y
Torcd! & 3B 9T & @, daf § fFaar

> ¥ BT
4 h b)4.5h «¢)5.4h d)6h
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